
16x16 Sudoku Possibility Matrix
Candidate #s from given puzzle (’as is’, with no reduction)
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Unique ’C’ in Row 7 @ col 11 Unique ’G’ in Row 9 @ col 13 Unique ’1’ in Col 4 @ row 11 Unique ’3’ in Col 4 @ row 4

Unique ’C’ in Col 9 @ row 4 Unique ’3’ in Col 12 @ row 13 Unique ’7’ in Col 15 @ row 8 Unique ’3’ in Block 1 @ R4C4

Unique ’2’ in Block 7 @ R8C9 Unique ’C’ in Block 7 @ R7C11 Unique ’7’ in Block 8 @ R8C15 Unique ’1’ in Block 9 @ R11C4

Unique ’G’ in Block 12 @ R9C13 Unique ’C’ in Block 13 @ R15C2 Unique ’3’ in Block 15 @ R13C12

’One Choice’ Cells (with only ONE Possible #):      0
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